
Ôóíêöiéíi ðiâíÿííÿ � 2

Ðîçâ'ÿçàòè ôóíêöiéíi ðiâíÿííÿ:

1. f(x− y) + f(y− x) = f(x) − f(y) ∀x, y ∈ R.

2. f(x5 + y3) = (f(x))4 + (f(y))4 ∀x, y ∈ R.

3. f(xf(y) + yf(z) + zf(x)) = x− y+ z ∀x, y, z ∈ R.

4. f(xf(y) + x) = xy+ f(x) ∀x, y ∈ R.

5. f(f(x+ y) + x) + f(xy) = yf(x) + 1 ∀x, y ∈ R.

6. f � ñòðîãî çðîñòàþ÷à i f(f(x) + y) = f(x+ y) + f(0) ∀x, y ∈ R.

7. f(0) = 1
2
i ∃a ∈ R òàêå, ùî f(x+y) = f(x)f(a−y)+f(a−x)f(y) ∀x, y ∈ R.

8. f(f(x) + y) = f(x2 − y) + 4f(x)y ∀x, y ∈ R.

9. f � ñòðîãî ìîíîòîííà i f(x+ f(y)) = f(x) + y ∀x, y ∈ R.

10. f(x2 + f(y)) = y+ xf(x) ∀x, y ∈ R.

11. (x− y)f(x+ y) − (x+ y)f(x− y) = 4xy(x2 − y2) ∀x, y ∈ R.


